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» Let ABC be a triangle, and let D be a point on side B
through D intersects side AB at Xand ray AC at Y . The
circumcircle of triangle BXD intersects the circumcircle

triangle ABC again at point Z#ZB. The lines ZD and ZY int
w again at V and W, respectively . Prove that AB =V

» &ABCR/ =/ - DRBCE LM —F - —IXRZFE D AR
B AB ZEMHAL - EE Y REFTAR AC 163 - =7 BXD AYY
Tz:zﬁ;i A2 ABC HUIMEE w T£7 Z#B BRARMEAL - 4R

DRIFE VW EBRE w 1822 - 58AHAB=VW
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» Let S =1{2, 3, 4, . . .} denote the set of integers that a

greater than or equal to 2. Does there exist a function
S such that f(a)f(b) = f(a2b?) for all a,b € Switha=Db

»<S5={2,3,4,... JERRARIFR 2 WEEE - 24F
2l f:S— S EFf(a)f(b) =f(azb?) ¥RPIAE a,b e S H a # b
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HPBHEAFEESENRE - ¥R SHWEE TR afM b BE—EARTMHENEE c-
Hitbc>afc>b:

AT (a* b* ¢*) = f(a?)f(b? c?) = f(a?)f(b)f(c) °
SN - At ac>b M c>a - HMA

fla* b* c* ) = f(b? )f(a? c?) = f(b? )f(a)f(c) -
cbEEMERE - BMEIRE R SHPABTTEaMb
f(a?)f(b) = f(b? )f(a)= f(a?)/f(a) = f(b? )/f(b)
HItFEE—EIEBEE Kk F15 f(a?) = kf(@)------------ (1)

HRPE aesS -  BERNAREAGEESS(ab) = (f(a)f(b))/k - WRFiBa -beSH
a#be oo (2)

IRERREAREASRE (1) M (2) £55%
f(a)f(a?)=f(a®) =(f(@)f(a®))/k=(f(a)f(a)f(a*))/k? =(f(a)f(a)f(a?))/k, EIRFFIE a €S -

> HiRFIBEMaeS Af(a)=k° Ka=28Mb=3RNARELSE EX k=1 BZ
1¢S AR ER -
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»let S =1{2, 3, 4, .. .} denote the set of
integers that are greater than or equal
to 2. Does there exist a function f : S
— S such that f(a)f(b) = f(a* b* ) for all
a,b € Swith a =Db?
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» Asequence of real numbers ay, a4, . . . is said to be good if
following three conditions hold. (i) The value of a, is a positive

a, . . . of real numbers with the property that a,, = 2014

> E%ZF?'@J ag, a1, . . . WRIMELL T =ERE - BIFEEKYE - (1)
IEZEEE - (i) W EEES Y | - RIFE Aipq = 2a; + 1 8% a;44=0;
(iii) FE—E 1 EZE28 k - £13 a, = 2014 - FHAS/NUIEEZ n - |
—EREFNEEFS ay, ai, ... - HEER a, = 2014
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» Let n be a positive integer. Consider 2n distinct lines on the pl:
two of which are parallel. Of the 2n lines, n are colored blue, t
n are colored red. Let B be the set of all points on the plane tha
at least one blue line, and R the set of all points on the plane the

on at least one red line. Prove that there exists a circle that inters
in exactly 2n - 1 points, and also intersects R in exactly 2n - 1 poi

» =N Z%E%EQ - ZR¥WHEL 2n 1%*@5’\] AR HORABmR1T
1TH - n REEE - Hittn BAE - 52 B 2WF [ﬁ]J:“\/'\ﬁiﬁ’\‘—ﬂ%%
ﬁEEE’JEE:. R & ‘—EJ:Z_\/NHEA—WZI R LRFTAERNES - &&F

—{E[Ee2 B IE4FMHAZ 2n - 1 @RS - 082 R ARG 2n - 1 @RS -
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» Determine all sequences a,, a,, a,, . . . of positive i
with a, > 2015 such that for all integers n > 1: (i) a4,
divisible by a,;; (ii) | s,,»1 - (n+1)a, | =1, where s,
—Qap tanq - 7 (_1)n+1 a

» BEFMBRY a4, aq, ay, ... . - o > 2015 BYIEZREEFEIN
BEZH n21: (1) a, I a, ZBER; (i) | S0y - (n+1) a,

. o e _1\n+1
=1 BA¥sp1=apyr —an + Apoq - + (1) a




T B

> 4110311158 —FFE BT 23

B FYEm

» 41103110581 —EF2|[F4E 243t

B FYEm

» 41093114481 _FFEEITH] HIFPPT &1

B FYEm

> 410931217 _CMEN 2

» 410831108 =H=IEE HE I

> 41083122281=5Fcha B3
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